Pos.: 12,13
POS. 12 Fenstersturz
s = 2,30 m
1. Belastung:
Eigengewicht o,32.0,1.25,0 = 0,8 kN/m
I -S4 Ly ~ ROE o om Mmoo 14 & n
I L WL U’JUJ.“‘I"VI&V,U ,I-‘f'\.l
0,035.4,5.,18,0 = 2,8 "
Pos, 3 (St. 1) 9,0/6,0 = 1,5
Pos. 4 (St. 1) 2.19,0/8,5 = 4,5 n
POS. '7 (Sto 1) = __:5_’:!,_9 "
qQ = 59:1 kN/m
2. Schnittkréfte
Q - 59,1-1,15 = 68,0 kN
M = 59,1.2,3°/8 = 39,1 kNm
3, Bemessungs:
b/d/h = 31,5/26/22 cm bm ¥ l,0 m
kh = 3,5 ks = 3,8 As = 6,8 df
red Q = 68,0~-59,1(0,12+0,5.0,22) = 48,6 kN
To = 48,6,10"°/0,85,0,315.0,22 = 0,82 Mi/m"
T = 0,82°/1,8 = 0,38 "
Asg = 0,38.0,315/0,0286 = 4,20 oi/m
Gewdhlt: ME = 2 ¢ 12
As = 4 ¢ 16
Riid B e = 17.5
POS. 13 Fenstersturz
5 = 2,30 m
1, Belastung:
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